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% =cos AcosB =%(cos(A+ B) +cos(A-B)) =%(—cosC +cos(A~B)), .. cos(A-B) =§+ cosC,
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P(X =3)=0.3x0.3=0.09, P(X =4)=C;0.2x0.3=0.12, P(X =5)=0.2x0.2=0.04,

P(X =6)=C;0.5x0.3=0.3, P(X=7)=C.05x0.2=0.2, P(X =9)=0.5x0.5=0.25.
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0(-2,-2,0), D'(0,0,2+2), B(0,4,0), E(0,0,0), ..OD'=(2,2,22),0B =(2,6,0),

OE =(2,2,0),ED'=(0,0,2v2) . ®&OD'B # &% % m =(a,b,c),



. R =(=31+2),

~[m-OD*=2a+2b+2y2c=0
n-OB=2a+6b=0

n,-OE =2r+2s=0

S , REn, =(1,-10),
n,-ED'=22t=0

su# OD'E #95@% 0z = (1,5,1), {

=@ A B_AD-E®FE RS a hbh, - cosq— 2l _ 4 /6

Infinz| V1242 3 °

Or\\\
A \\E \\\ B
AN
AN
D G F
x? y? 2, bPx 2 y. —b y. +b
21. (1) ®mD(x,,y,) AL, st de =1 s yrep?o— e gk =ded g =JoTT
( 0 yo) + 4 b2 y 4 1 XO 2 Xo
b?x 2
_ 2 po 2 2 2
aolip =YYt Yo 4 D mmc s X ayiol,
4 X, X, X, X, 4 4
(2) B HAZH y=kat KL =kx+ 1, b m=k—1, 05 & & 742 % A y
X2+4y?—4=0 7% , (K+ X+ komix 24m |, % H A X H J/ /%
A = 64k*m? — 4(4k> +1)(4m? — 4) = 64k £16~16m> =16(3k> + 2k) >0, e

Sok>03k <—§o BD(X,, Y, nH(X, Y,) AR,

Ly o Bkm o _4m°-4
o T 4k% +1’ % 4k? +1 "’

k= et N Wermod kyamel_ o g%t X
X, X X, X XX
—8km 2km 1
— 2k +(m—1 k- —2k—2m=2, .~k =2-k, L kk =—=,
( )4m2—4 m+1 K ! Kz 4

k2+k3=2—$—k1, 1 f(x)=2—%—x (x=0),
1

s f(x)= 4]);2 1= (1—2);))g+ 2X)

- f(x)z;(—oo,—%],[%,+oo)%wzﬁxa,&[—%,0),(0,%]%%&,



PR f(—%) -3, f(%) =1, 2 F(X) BAEEH (—00,1]U[3, +00) , B K, +K, 8 FUATE A # (—00, 1] U[3, +0)

22. (1) ®RAEZE f'(X)= 2x+ a,g '(x):1 , AAMEBAERF LA L S LS AN A MmN, WA
X

1 1 a 1 a
2m+a== — )Y +a(—-2)-Inn
n mot_ 2 ...l=(2n 2 "))
1 _m’+am-Inn’ 2n 2" 'n 1 a ’
n m-n 2n 2
1 a a° 1 1 ‘
¥F———+—-1+Inn=0®, XTFNHHTHERAH AR Rt=—>0, ~.n=—, NOTRA
an> 2n 4 2n 2t
2 2
?_at+ 14220, mh(t)=t—at+> —1+In=,
4 2t 4 2t
1 2t 2 , : . . .
S h(t)=2t-a —E:f,\iﬂt _at-1e94fEThe, hi(t) £ (0,400) e AE AL, - h(t) £(O,t,)

® R, (L, +o0) BMEH, " h(t) RA—AEE,

2
~hit,) =t2 —ato+%—1+ln%=0®, Lt wma2’-at —1=(®, KzQ@#K 154 a TH

0

1 1
F—1+|n2——0@ mp(t,) = ——1+In2—7’79éi"t WS, B pE ) 0, m@ﬁ%tozé,

0 O 0

HA®Fa=—1. st f(X)=x>—x.

g q(x) = f(X)—g(x)=x*—x—InX, .'.q'(x):2x—1—%:(2XL))((x_1), ~og(x) & (0,1] 28 i e,

[1,+00) #igit3, ~.q(X)>q@) =0, B f(X)>0(X) ¥ ERE x=1]%,

(2) & (1) T4, X(x=1)>Inx,Vx=., B (X+L)x>Ink+ 1)vx= , .‘.I{xx:l, neN,, m
n

n+1 n+1

(1+1)1>Iné+ 1, VneN,_, (—) vneN,,
n n n

-~Z',+1 In( )+In( )+ +In(—) In(n+1)

i=1



